1}ba+5a=-11

Ha= -1

3N ax+6+3=17
e q =7
4x =g
X=2
S)er-1+6r=11

_Nﬂi_u:

[r=1]

7) =10 = -14v + 14v

-10=0

N0 _Saiunon

9)21=29m + 13m

=
B\N

Name: _N\E

Multi-step Equations Review

2)-6n-2n=16

-B/n =10

(=]

4)0=-5n-2n
0=-Tn
6)29=r+5+8r

Ar =24

8)-12=-10p+9p

Pz

10)a-2+3=-2

a+\z~7
la= ‘w_

o

J

i

8

™~

11} 18 = 3(3x - &)
13=9 x-1%
3 =4X

13)37=-3 +5{x + 6}
31=-3+5x+30
10 = 9X

|
15} a(-x + 4} = -6

-4X+10 = -

z-27

]
=7

17} -6{1 - 5v}=54

~-L+30y =54

\ V=2

19} 10{1 + 3b) = -20

10+30b = -2¢

.
-

>
~

a—

12} -5(6n + &) = 30
30 =-30n - 30
0 = ~30N

14) =13 = 5(1 + 4m} - 2m

13,

14,

I_U H@\TNQB -Zm

13 =(8m
[m=1]

16)-2=~{n- 8}

2 =N+
[n=10]

18)8=8v-4(v+8)

F=8y-4v-32
v=10 |

20)-4n-8(1+7n)=8

-4n - g~ 56N =Y

|




21) 8(4k - 4) = -5k - 32
32K-32=-9k -32

271K =0

K =0

23) 8{1 + 5x)+ 5= 20+ 5x
w .Tiox.—‘@“NO .._\mx.
35 X=

-
—

25) -5{4x - 2} = -2(3 + 6x)

20X 10 = ~G-12x

lo =%V
ﬁxumw

27 _uumi

3%
e

D

29)4-(v+8)=9v

4-v-%=9v

...L = Qv
_ =2
1]

22)-B(-8x - 6)=-b6x—22 n Q
X +48 =~ x-22 2
20% = -10
[ x=-1]
24)-11-5a=6{5a+ 4)
~l1-50 = 30a +24
~35 =350

26) 5(2% + 6) = =4(-5 - 2x) + 3x 2

_cx\.\mo ..r.NO inﬁwX 26. _O
8

| X=10]

28) -|-3|+2x-8=5r+2 25 u_wm.m
-3+IX-8= Ox+L

23,

V| ~—
s

4.

~13 =3
Gt
-2
3o) nm..l.r.:.:. 29, \@
\lu @ B 3.t_w,n 2
qﬂnw_.m.
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